B #HmaRaf M SR

3 PS5 — i

IENEEE |

p.7 (1)
1.2x X 80 + (x +y) x40 — 120x

= 96x + 40x + 40y — 120x = 16x + 40y  (7)
p.7(2)
2X+y—4=3x—y+2=>x—2y=-6
a=-2b=-6 ~a+b=(-2)+(-6)=-8
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b 10x = 15y = x = 1.5y

p.7(4)

BFE T xR EAT y R

HT 30x + 21y = 2 x 1000 — (500 + 6 x 10)

= 30x + 21y = 1440 = 10x + 7y = 480
= 20X+ 14y = 2(10x + 7y) = 2 X 480 = 960

(i FS 1 1000 — 960 = 40 7
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p. 14(1)
8x+4=20 x=2
2+kx4=—-6 4k=-8 k=-8

p. 14(2)
{4x—3y+7=0 {4x—3y=—7 =>{x=2
3x—y—1=0 3x—y—1=0 y=5
~2+3x5+k=0 k=-17

p.15(3)

{a+b=2 =>{a:—1

da+b=—-1"lp=3 YT XF3
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Hix=5[ y=-5+3=-2

p-15(4)
X+y y—Xx
3 + 5 =5=2x+2y+ 3y —3x=-30
= —x+ 5y = 30
X X4y
T2 +1=0=>4x—-5x—5y+20=0

— —x — 5y = -20
{—x+5y=30 :{xz—S
—x — 5y = =20 y=>5

v (2x+y> x—3y+2)=(2%(-5)+5° =5-3x(5) +2)

= (-5 —18)
p.15(5)
1 3
J—+—=3...®
Xy
3 6
L~ =5..(2
Xy
5 1 11
DOx2+Q0=>-=11>—-=—
X X 5
15 1 4
DOX3—-Q=>—=4=—-=—
y y 15
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- 7% + 10y = 205 -+ (D
L 'ﬁL@{ Y

5x + 3y =105 (@

@x10—Dx3 H 29x=435=>x=15
p.23(2)
a+c=2b -
Pji’si

Ec—a+ b=~3c—6a+2b 0

®_

@H 7a—2c=0 «~c

(x+1Dy=xy+26 _ .
'{( +2) =xy436 X187 y=26

%
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2 X (18 + 26) = 88 m
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 (3x+2y=50@
L ':éL@{ Y

2 + 3y = 45 -+ (@

HI@Q+ OH 5x+5y=95=x+y =193

O-@x2t

(A)3x12+7x7 =85
(05X 12+5x%x7 =95

Hx=12> T Qfy=7

(B)2 x 12 4+ 10 X 7 = 94
(D)7 X 12+ 3 x 7 = 105
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p.42(1)
D2x4=8

@ AABC = -7} AEFG — AABG — AACE — ABCF

1 1 1
=2X2—EX2X1——X2X1—EX1X1

2
3—.1\—1 /+
=5 (L)
p.42(2)
F%P%ﬂﬁi:?ﬁ%'?@(x’y) x<0>y>0
8
= X=-7 1
{X”Y P 3 ...p(_ﬁ,_‘))
—X+y=6 10 3 3
3
p-42(3)
12 5 5 2 3
I Hgy X 3+ = —=1=-K < =T =F
1220 x3+35 = — =12 S BT
o PIHN AR BT = gaiL
p.42(4)
3a—2=-10 a=—o cada=—.
aTes a=73 ATz T 73
e 7
FT’srA gﬁ?ﬂ y JHIPSRERERT, __| =3
p-42(5)
{4x+3y—5=0=>{x
S5x—y—11=0 =
s y)= (20 - 1)EIPGI
p.42(6)
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PE(0-0) F(0-3)
D“li%% ABCD = 7[";'}31/4 FADE — AFAB — ABFC
1 1 L s
=(2+4)><3><§—2><1><——3><2><§=5(~ Stk )
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p.56(1)
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\ =ax+b

FISOII B GRS S MG <00 b <0
p.56(2)
?VC_DHI%IJT;J:TQ M(5 » 2) » SFAM HAHE x il RIE LR

»A(2>4) M(5°2)** y=ax+b=2x+3y =16

p.56(3)

y
| y,;=ax+b(a>0 > b>0)

y,=cx+d(c>0 - d<0)
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p.56(4)
ﬁ%(b’ — 1) 2x—y+4=0f[1> Fr'@bz_z
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’}{‘éj’(—z’ —1)[*“ x+ay+1=0le£Ja=—§

amvm2(-)-(D--}
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p. 74(1)

(a+1.1b)—(1.1a+b) =—-0.1a+a.1b=0.1(b — a)
va<b ~01x(b—a)>0 .~ FIUR - Brafos E‘Lﬁﬁgj
p.74(2)

5 1

— X 36%+g>< 24% = 30% + 4% = 34%

p.74(3)
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p.81(1)

e MR 3x v 5x~2x v ox#0 0 HI3x=60 ~x=20

= MHF 3x+ 5x + 2x+ 350 X 3 = 1250 7~

p.81(2)
XX 5% +yX12% 8
= = 12
Xty 100 8(x+y) =5x+ 12y
3x = 4y [f,'?xiy=433
p.81(3)
4OO><3><300+400><2><200—720+320— 1040
57100 57100 B
p.81(4)
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u)
ik = E‘;E R = St x [ - SRR T
pii:a: T‘J = 3000 — 800 : 3000 — 400 : 3000 =11 : 13 : 15
[FIBNfRZE =
p.88(1)
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p.88(2)
@Ry~ @Ry @Ry -
p.88(3)
(D)(G):x Tﬁ@ﬁli' (E) =387 % - F‘ﬁ]{”ﬁﬁﬁ IFil

[FIENRZE= |

p.106(1)
fx)=(a—1x*+ (Ba+4)x+5

M- S Hla—1=0 sa=1

Sf0) = —x+5  Ff-1)=1+5=6

p.106(2)

X, =f(xg) =f2)=1-1=0

X, =f(x,)=f0)=1-0=1

X3 =f(x,)=f(1)=1-05=0.5

x4 = f(x3) = f(0.5) = 1 — (0.5)? = 0.75

xs = f(x,) = £(0.75) =1 —-0.75%x 0.5 = 0.75
p.106(3)

f(—x+1)=1-2(—x+1)=1+4+2x—-2=2x—-1
p.106(4)

f(=2)+f(0)+f(5)=-5+(C-1D+(10+3)=7
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p.106(5)

g(4) = f(4 + 1) + 4£(0) = (50 = 7) + 4 x (=7) = 15
p.106(6)

f(6) =f(3)—3=9-3=6

f(9) =f(6)—3=6—-3=3

f(12) =f(9)—3=3-3=0

[TIBNRZE —
p. 114(1)

BIREED Y = (0 = ax+b

#§(10 > 500) ~ (12> 700) ¢ * y = f(x) = ax +b

{500 =10a+b- @

— MW 200=2a a=100
700 = 12a+b - @ @-0
T @HE b=-500 -~y=f(x)=100x— 500

Hy=1000f" #Hx=15 (")
p.114(2)
Ei[j@q‘[ﬁlﬁ H ;'i[l
HF gy x > 4[5 > () > g(x)
HiF Iy x < 41 f(x) < g(®)
HiFridiex = 4 1 > f(0) = g(x)
p.114(3)

va’?—4=0=a=4+2 " a+2=0=a=-2

i) = =2 = 3 = =5 = £(2008) = —
p.114(4)
x=0"" gx)Hgx)=—-6+0=—-6

S TR0 —6)f¢ 7 fCOH —6=3k+0 k=-2
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p.114(5)
f(x)=§x+aim;ﬁ}(0 ’ 0)=>a=0
gx) =bx+cijf(1-9)=b+c=9 ~a+b+c=9

NIBNiRZE =
p.129(1)

D(1.4x — 2000) —x = 0.05x  @fL

NIENEZE T |
p.140(1)

ax—b>bx—a=>(@—-b)x>—-a+bhb Ya—b<0

—a+b_
a—b

LX< -1 x<-1

p.140(2)
—-7x<14 x>-2 ~a=-1
—-3x>6 x<-2 ~b=-3
~a+b=(-1)+(-3)=—-4
p.140(3)
—7<2x—-1<7 —3<x<4

=-3+--2~-1-0-1-2-3-4= 8

p.140(4)
-2
-2 > —ax x<_—a=—1 ca=-—-2
p.140(5)
@F%ﬁ;'% x ©*57 AB=(100 — x)
X>100—X 4x > 3(100 ) . >300
3= 4 X = Moo x=Ty
L — 300 . — s
<“BC< 100 «~— 75 <BC<100 77
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@pD > []0 <AB < 100 — =~

FFI'VEEIUEJ\;EZEI?T@ £h 57 2255

p.140(6)

—bSZx—aSb:Tgxg

=1

{a+b=14

a—b=-2

p.140(7)
—-3m—9>-5

300 _ 1
0<ABS577
a—b a+b
2
a=6 |, o _
b=s8 ~3a—2b=2
4
—3m =4 .'.ms_§
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